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zzCayley'streeTheem of trees that connect

a labeled vertices t Z g n is n

Pf bijection
between trees and Prife sequences

length n 2 by repeatedly
removingsmallest leaf

andwriting down its neighbor

PEI bijection between
trees and functions

f 1,2 in 1.3 in

such that fat and fun n by turning the tree

into a
directed graphand moving

around edges to create

some cycles



EE.tn
s

n cars 1,2 n

n parking spaces 1,3 oh

Each car has a preferred parking space

The cars enter the parking lot oneby one starting

at space I

If their preferred spot
is available they take it

Otherwise fake the next available spot

If no spotsavailable after
their preferredone

the e leaves without parking

The set of preferences is a parkingfunctic it all
cars get to park

EI care 1,213,4 5

car I prefer spot 3

la 2 prefers spot 5 3 5,3 44

cars prefers spot 3
car 4 prefers spot I

car 5 prefers spot 4



What happens
enter exit

s

1 far I takes spot 3

2 Car 2 takes spot 5

3 Car 3 drives to spot 3 sees it's
taken and takes

spot 4

4 Car 4 takes spot 1

5 Car 5 drives tospot 4 sees it's taken Keeps

driving but spot 5 is also taken so car 5 leaves

without poking

This is not a parking function since car 5 didn'tget
to park

Question How many parking functions
are there if we

have n cars

A1 just parking function I fear I prefers
spot 1

n I 2 T I parking functions
21 f I
1 I



I

t park

Fire the parking functions for n 3 and how

many

Claim A sequence is a valid parking function it and

only if
for any suffix the of cars with

preferences

in that suffix is E the length of that suffix

Ex 3,5 3 1,4
carspreferringspots

I war 2 21 car

YI cars 2 and 5 C2 cars

3,4 5 cars 1,43 5 I cars X

2 4,0 5 ears 7,23 5 4 cars

1,73405.1 cars 1 2,34 525
cars

ProblemI 4 cars who all want the last 3parking

spots not enough space for all 4 of
them












